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QUESTION 1

If SEGSIZE 64 and MAXPARTITIONS 10 are specified in a CREATE TABLESPACE statement, what type of table
space is created?

A. LOB table space.

B. Segmented table space.

C. Range-partitioned table space.
D. Partition-by-growth table space.

Correct Answer: D

QUESTION 2

What is the maximum levels of backup that DB2 plan stability can support?
Al

B.2

C.3

D. 4

Correct Answer: C

QUESTION 3

Which DB2 online utility job output provides you with information about the BACKUP SYSTEM history?
A. DSNJU003

B. DSNJU004

C. DIAGNOSE

D. REPORT with RECOVERY option

Correct Answer: D

QUESTION 4

When a table space defined as both partitioned-by-growth (PBG) and MEMBER CLUSTER YES is altered to MEMBER
CLUSTER NO by the ALTER TABLESPACE command. Which statement is correct?

A. DB2 does not allow the command.
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B. DB2 applies the changes immediately.
C. DB2 allows the command only if the table is empty.
D. DB2 places the table space in AREOR (Advisory Reorg).

Correct Answer: D

QUESTION 5

Which of the following tasks cannot be done via a single ALTER TABLE statement?
A. Add a new patrtition to the table space.

B. Change the VALIDPROC attribute of the table.

C. Change a table check constraint on the table.

D. Change the DATA CAPTURE attribute of the table.

Correct Answer: C
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